

Gujarat Secondary & Higher Secondary Education Board, Gandhinagar

Examination Wing, Vadodara

0532644



STATEMENT OF MARKS

This is to certify that

AYAR PANKAJ SHAMJIBHAI

has acquired following grade in the Secondary School Certificate Examination.

MONTH & YEAR OF THE EXAM	SEAT NO.	CENTRE NUMBER	SCHOOL INDEX NO.	SR. NO. OF STATEMENT	
MARCH-2017	C9173269	853	62.037	0544920	
NAME OF THE SUBJECT WITH CODE NO.	MARKS OBTAINED IN EXTERNAL BOARD EXAM OUT OF 70	MARKS OBTAINED IN INTERNAL SCHOOL EVALUATION OUT OF 30	SUBJECT WISE GRAND TOTAL OUT OF 100	MARKS OBTAINED IN WORDS	SUBJECT WISE GRADE
01 GUJARATI FL	38	17	055	FIVE FIVE	C1
10 SOCIAL SCIENCE	43	15	058	FIVE EIGHT	C1
11 SCIENCE & TECHNO.	36	18	054	FIVE FOUR	C1
12 MATHEMATICS	18*5	16	034*5	THREE FOUR	D
14 HINDI SL	43	18	061	SIX ONE	B2
16 ENGLISH SL	27	20	047	FOUR SEVEN	C2
			Total: 309		
GRAND TOTAL OF MARKS OBTAINED		THREE HUNDRED NINE			

PERFORMANCE IN THE SUBJECTS OF SCHOOL BASED EXAMINATION

NAME OF THE SUBJECT WITH CODE NO.	GRADE	CO-SCHOLASTIC EVALUATION	GRADE
33 KRUSHI VIDHYA-T	C1	Values :	B
57 KRUSHI VIDHYA-P	A2	Skills :	A

GRADE	PERCENTILE RANK	DATE OF BIRTH (in figure)
C1	57.28	28/06/2002

DATE OF BIRTH (in Words)	DATE OF BIRTH (in figure)
TWENTY EIGHTH JUNE TWO THOUSAND TWO	28/06/2002

RESULT
QUALIFIED FOR SECONDARY SCHOOL CERTIFICATE

IMPORTANT : Any change in this document except by the Issuing Authority will result in cancellation of the document and shall also invoke imposition of appropriate legal action.

(i) XO: Indicates 'Exemption' (> 93%)

(ii) AO: Indicates 'Absent'



*[Signature]*

EXAMINATION SECRETARY

To qualify for a subject a candidate has to score minimum 23 marks out of 70 in board exam and 10 marks out of 30 in school internal evaluation



ગુજરાત માધ્યમિક અને ઉચ્ચતર માધ્યમિક શિક્ષણ બોર્ડ, ગાંધીનગર  
Gujarat Secondary & Higher Secondary

Education Board, Gandhinagar

M 0334063

ગુણપત્રક-ઉચ્ચતર માધ્યમિક પ્રમાણપત્ર પરીક્ષા - 2019

Statement of Marks - Higher Secondary Certificate Examination - 2019

પરીક્ષાનો માસ અને વર્ષ MONTH & YEAR OF THE EXAM.	બેઠક નંબર SEAT NO.	કેન્દ્ર નંબર CENTRE NUMBER	શાળા નંબર SCHOOL INDEX NO.	પ્રવાહ STREAM
MAR-2019	G 550986	135	12.027	GENERAL

ઉમેદવારનું નામ  
Candidate's Name AYAR PANKAJ SHAMJIBHAI

એસ.આઈ.ડી. નંબર  
S.I.D. No. 19G-447393

પત્રક અનુક્રમ નંબર  
SR. NO. OF STATEMENT 202883

વિષયનું નામ કોડ નંબર સાથે NAME OF THE SUBJECT WITH CODE NO.	કુલ ગુણ TOTAL MARKS	મેળવેલ ગુણ + શુભ ગુણ = કુલ ગુણ MARKS OBTAINED + CONDONATION = TOTAL	મેળવેલ ગુણ શબ્દોમાં MARKS OBTAINED IN WORDS	સાબુકોડ SUBJECT WISE GRADE
001 GUJARATI (F. L. )	100	057	ZERO FIVE SEVEN	C1
009 HINDI (S. L. )	100	056	ZERO FIVE SIX	C1
013 ENGLISH (S. L. )	100	037	ZERO THREE SEVEN	D
022 ECONOMICS	100	058	ZERO FIVE EIGHT	C1
139 SOCIOLOGY	100	073	ZERO SEVEN THREE	B1
141 PSYCHOLOGY	100	056	ZERO FIVE SIX	C1
148 GEOGRAPHY	100	064	ZERO SIX FOUR	B2

કુલ ગુણમાંથી મેળવેલ ગુણ  
OBTAINED MARKS OUT OF TOTAL MARKS 401/700

ગ્રેડ  
GRADE C1

મેળવેલ કુલ ગુણ શબ્દોમાં  
TOTAL MARKS OBTAINED IN WORDS FOUR HUNDRED ONE ONLY

પરિણામ  
RESULT ELIGIBLE FOR QUALIFYING CERTIFICATE

શમ નામે  
PERCENTILE RANK 61.89

ગુણપત્રકનું કોઈ પણ ભાગમાં ફેરફાર કરવાને અનુમતિ નથી. જો ફેરફાર કરવામાં આવે તો આ ગુણપત્રક રદ થશે અને બોર્ડ દ્વારા અનુકૂળ પગલાં લેવાશે.  
IMPORTANT: Any change in this document except by the issuing authority, will result in the cancellation of the statement and shall also invoke imposition of appropriate legal action.



*Amari..*

(Dr. Avaniba Mori)  
મહાલો નિયામક (પરીક્ષા)/Deputy Director (Exam)



Statement of Grade for Second Semester of PGDIPLOMA [Post-Graduate Diploma] Examination : May-2025

Name : Pankaj Ayar

PRN : 8024054255

Faculty : Faculty of Education & Psychology

Mother Name : Rekhaben Ayar

Seat Number : 234318 (Fresher)

Specialisation : Guidance and Counseling

Course Code	Course Name	Credits	Grade Obtained	Grade Points	Earned Gr. Points	Remark
EEA4207C06	Human Growth and Development-II	2	C	7.00	14.00	E, C
EEA4208C07	Organisation and Administration of Guidance Services-II	2	D	6.00	12.00	E, C
EEA4209C08	Personality and Psychopathology-II	2	C	7.00	14.00	E, C
EEA4210C09	Counseling and Psychotherapy-II	2	D	6.00	12.00	E, C
EEA4211C10	Basic Counseling Skills Training and Personal Growth Laboratory-II	2	C	7.00	14.00	E, C
EEA4212I02	Practicum Internship-II	2	B	8.00	16.00	E, C
EEA4213V02	Viva Voce Test	2	C	7.00	14.00	E, C
EEA4214N01	Integration Course	4	C	7.00	28.00	E, C
<b>SSPGDIPLOMA</b>	Earned CREDIT : 18 EGP : 124.00 SGPA : 6.89		STATUS : Complete   GRADE : C   Ordinance : NOT APPLIED			
<b>FSPGDIPLOMA (Seat No. : 134327 Exam Event : October-2024)</b>	Earned CREDIT : 14 EGP : 82 SGPA : 5.86		STATUS : Complete   GRADE : D   Ordinance : NOT APPLIED			
<b>CUMULATIVE FOR CURRENT PART</b>	Percentage : 64.4		Earned Credits : 32	Total EGP : 206		
	CGPA : 6.44		Status : Complete	Grade : C		

Abbreviations: IA : Internal Assessment ; UA : University Assessment ; AM : Assessment Method ; Sts : Result Status ; Rmk : Remark/s ; P : Pass ; F : Fail ; AB : Absent ; RR : Result Reserved ; X : Past Appearance ; E : Exempted ; T/ATKT : Allowed to keep Term ; M : Performance Cancelled ; D : Detained ; PND : Paper Not Opted ; EHB : Explicitly Hold Back ; NP : No Punishment ; N : Not Exempted ; C : Current Appearance ; SPH : Special Passing Head ; TDL : To be Declared Later ; @@ : Exemption Approved ; NE : Not Eligible

**DISCLAIMER :** These marks/Grades and result information is purely a 'Provisional Statement of Marks/Grade' This Provisional statement shall not be used for any other purpose other than admission, filling exam forms and redressal procedure

Concerned Faculty/College admitting the student must verify the true state of this Provisional Result from <https://admission.msubaroda.ac.in/vidhyarthi/>

In case of any query, please contact university authorities for further clarifications.

Printed On : 16-5-2025 | 8:48:11

*P. ayar*  
*Self Attached*



Statement of Grade for Second Semester of MA-II [Master of Arts] Examination : October-2024

Name : Ayar Pankaj Shamjibhai  
PRN : 8022032008  
Faculty : Faculty of Arts

Mother Name : Rekhaben  
Seat Number : 405401 (Repeater)  
Specialisation : Psychology

Course Code	Course Name	Credits	Grade Obtained	Grade Points	Earned Gr. Points	Remark
GUJ2405E04	Gujarati Gadyakrutio	4	D	6.00	24.00	E, X
PSA2401C13	Cognitive Psychology and Experiments-IV	4	D	6.00	24.00	E, C
PSA2402C14	Social Psychology-II	4	E	5.00	20.00	E, C
PSA2406C15	d Mental Health Interventions in Schools	4	D	6.00	24.00	E, X
PSA2408C16	b Psychological Testing	4	D	6.00	24.00	E, X
PSA2413P04	d Internship IV : Educational School	2	B	8.00	16.00	E, X
<b>SSMA-II</b>	Earned CREDIT : 22 EGP : 132.00 SGPA : 6		STATUS : Complete   GRADE : D   Ordinance : NOT APPLIED			
<b>FSMA-II (Seat No. : 305402 Exam Event : October-2023)</b>	Earned CREDIT : 22 EGP : 122 SGPA : 5.55		STATUS : Complete   GRADE : D   Ordinance : *APPLIED			
<b>MA-I (Seat No : 205401) (Exam Event : October-2023)</b>		Total Credit : 44   Earned Credit : 44	EGP : 246	SGPA : 5.59	Status : Complete	Grade : D
<b>CUMULATIVE FOR CURRENT PART</b>	Percentage : 56.8	Earned Credits : 44	Total EGP : 254			
	CGPA : 5.68	Status : Complete	Grade : D			
<b>FINAL CUMULATIVE</b>	Percentage : 56.8	Total Credits : 88   Earned Credits : 88	Total EGP : 500	CGPA : 5.68	Grade : D	

Abbreviations:- IA : Internal Assessment ; UA : University Assessment ; AM : Assessment Method ; Sts : Result Status ; Rmk : Remark/s ; P : Pass ; F : Fail ; AB : Absent ; RR : Result Reserved ; X : Past Appearance ; E : Exempted ; T/ATKT : Allowed to keep Term ; M : Performance Cancelled ; D : Detained ; PNO : Paper Not Opted ; EHB : Explicitly Hold Back ; NP : No Punishment ; N : Not Exempted ; C : Current Appearance ; SPH : Special Passing Head ; TDL : To be Declared Later ; @@ : Exemption Approved ; NE : Not Eligible

*P. G. S.*  
*Self Attested*

**DISCLAIMER :** These marks/Grades and result information is purely a 'Provisional Statement of Marks/Grade'. This Provisional statement shall not be used for any other purpose other than admission, filling exam forms and redressal procedure.

Concerned Faculty/College admitting the student must verify the true state of this Provisional Result from <https://admission.msubaroda.ac.in/vidhyarthi/>

In case of any query, please contact university authorities for further clarifications.

# MAHARAJA KRISHNAKUMARSINHJI BHAVNAGAR UNIVERSITY

Bhavnagar-364 002, Gujarat State, INDIA.

## STATEMENT OF MARKS

Sr. No.2021 :

689431

Certificate showing the number of marks obtained by Shri/Smt./Kumari  
AYAR PANKAJ SHAMJIBHAI of SAMALDAS ARTS COLLEGE  
In each head of passing at the 2001-BA - NEW CBCS Sem-6 Examination held in MAR - APR MAY -2022

SID : 3000200120190232

Subject Code	Subject Name	Credit	Internal Assessment Marks	University Exam	Result
21724	GUJ-CL-603 - Compulsory Gujarati: ('Sudama Charitra'-Premanand)	003	020/030	Grand Total	Grade : A
21765	PSY-CC-604 - Psychology: Psychopathology	003	013/030		
21766	PSY-CC-605 - Psychology: Statistics in Psychology	003	012/030		
21767	PSY-CC-606 - Psychology: Practical in Psychology-II	003	016/030		
21770	PSY-CC-607 - Psychology: Psychology of sex and Married Life	003	016/030		
21772	PSY-CC-608 - Psychology: Environmental Psychology	003	014/030		
21721	FC-602 - Swachhata aane Aarogya-II	002	018/030		
21720	SS-601 - Gandhian Philosophy-II	002	020/030		
Grand Total				91/180	334/520

Seat No : 10160162

Result

Grade : A

048/070

045/070

056/070

048/100

041/070

048/070

048/070

042/070

046/070

334/520

I Certify that Shri/Smt./Kumari AYAR PANKAJ SHAMJIBHAI  
has appeared at 2001-BA - NEW CBCS Sem-6 Examination  
held by M.K. Bhavnagar University

**PASSING  
CERTIFICATE**

His/her Seatno. Month and Year of Examination and Class obtained there  
are as mentioned here : Seat No: 10160162 Month and Year of Examination:  
MAR - APR MAY -2022 Class Obtained: SECOND CLASS

000 - INDICATES ABSENT ; 200 - INDICATES ZERO ; 300 - INDICATES PASS WITH EXEMPTION ; 400 - INDICATES COMPARTMENT  
Note : No change in any entry is to be made except by the authority issuing the certificate. Any infringement will be severely dealt with.

SEM 1 : 245/490	SEM 2 : 273/490
SEM 3 : 257/490	SEM 4 : 291/490
SEM 5 : 338/520	SEM 6 : 334/520
GRAND TOTAL : 1,738/3000	
GRADE: B+ 57.93%	
SECOND CLASS	

Registrar

Sr. No.2021 :

689431



Dt:01/06/22



We, the Chancellor, Vice Chancellor and Members of the  
Court of the Maharaja Krishnakumarsinhji Bhavnagar University  
certify that

Ayar Pankaj Shamjibhai of  
Samaldas Arts College, Bhavnagar  
having been examined for the Degree of  
Bachelor of Arts in Psychology  
and having passed the examination in the  
Second Class, the Degree of

# Bachelor of Arts

has been conferred on him at Bhavnagar on the  
Twenty Ninth day of the month of January in the Year  
Two Thousand Twenty Three.

In Testimony whereof are set the Seal of the  
said University and the Signature of the said Vice-Chancellor.



P. ayg  
Self Attesting

M. N. Trivedi.  
Vice-Chancellor